
MATHS

BOOKS - RD SHARMA MATHS (ENGLISH)

SQUARES AND SQUARE ROOTS

Others

1. Is 225 a perfect square ?
 if so, find the number whose

square is 225.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sC86U3m2cmq6


2. Show that 63504 is perfect square. Also, find
 the

number whose square is 63504.

Watch Video Solution

3. Show that 17640 is not a perfect square.

Watch Video Solution

4. Find the smallest number by which 180 must be

multiplied so that the product is a perfect square.

Watch Video Solution

https://dl.doubtnut.com/l/_HDVigKneB1wh
https://dl.doubtnut.com/l/_ibsXNqqQGUca
https://dl.doubtnut.com/l/_2jHSpSn6oOUf
https://dl.doubtnut.com/l/_XOPYZRsAjDEm


5. Find the smallest number by which 25200 should
 be

divided so that the result is a perfect square.

Watch Video Solution

6. Which of the following numbers are perfect
 squares?

(i)484            
(ii)    625              (iii)    576   
(iv)  941
(v)961

            (vi)   2500

Watch Video Solution

7. Show that each of the following numbers is a
 perfect

square. Also, find the number whose square is the given

https://dl.doubtnut.com/l/_XOPYZRsAjDEm
https://dl.doubtnut.com/l/_CMATksrzDUoE
https://dl.doubtnut.com/l/_MRnCtnv4Va9A


number in
each case: (i)1156                          (ii)   2025               
 (iii) 

14641         (iv) 4761

Watch Video Solution

8. Find the smallest number by which the given
 number

must be multiplied so that the product is a perfect

square : (i)23805          
(ii)  12150             (iii)   7688

Watch Video Solution

9. Find the smallest number by which the given
 number

must be divided so that the resulting number is a

perfect square :
(i)14283           
(ii)  1800            (iii)   2904

h id l i

https://dl.doubtnut.com/l/_MRnCtnv4Va9A
https://dl.doubtnut.com/l/_yuXDJ1Q4rAjy
https://dl.doubtnut.com/l/_JjP9aBRMcCkV


Watch Video Solution

10. Which of the following numbers are perfect squares ?

11, 12, 16, 32, 36, 50, 64, 79, 81, 111, 121

Watch Video Solution

11. Using prime factorization method, find which of
 the

following numbers are perfect squares ? 189, 225, 2048,

343, 441, 2916, 11025, 3549

Watch Video Solution

https://dl.doubtnut.com/l/_JjP9aBRMcCkV
https://dl.doubtnut.com/l/_UvqxYM4MVB94
https://dl.doubtnut.com/l/_EM3zf4xPoFv7


12. By what number should each of the following

numbers be multiplied to get a perfect square in each

case
 ? Also, find the number whose square is the new

number. (i)605(iv)2880

Watch Video Solution

13. By what numbers should each of the following be

divided to get a perfect square in each case? Also ,
 find

the number whose square is the new number.
(i)16562     

(ii) 3698            (iii) 5103 (iv) 3174    (v) 1575

Watch Video Solution

https://dl.doubtnut.com/l/_TrIiD3nAgXhr
https://dl.doubtnut.com/l/_g3GPKKbeK2M0


14. Find the greatest number of two digits which is
 a

perfect square.

Watch Video Solution

15. Find the least number of three digits which is
perfect

square.

Watch Video Solution

16. Find the smallest number by which 4851 must be

multiplied so that the product becomes a perfect square.

Watch Video Solution

https://dl.doubtnut.com/l/_fd9f7LQW9YNm
https://dl.doubtnut.com/l/_1YMVXEGtbaV9
https://dl.doubtnut.com/l/_LekRDscHj25x


17. Find the smallest number by which 28812 must be

divided so that the quotient becomes a perfect square.

Watch Video Solution

18. Find the smallest number by which 1152 must be

divided so that it becomes a perfect square. Also, find

the number whose
square is the resulting number.

Watch Video Solution

19. Explain why none of the numbers out of following is a

perfect square.
152, 7693, 14357, 88888,
 798328

W t h Vid S l ti

https://dl.doubtnut.com/l/_JQdlRDG6PbEz
https://dl.doubtnut.com/l/_za8EbwO8Mh7O
https://dl.doubtnut.com/l/_hL5JEv8xN5SE


Watch Video Solution

20. 635, 98, 122 are not perfect squares as they
 leave

remainder 2 when divided by 3.

Watch Video Solution

21. 67,   146,
 363, 10003 are not perfect squares as they

leave remainder 3,2,3 and 3
respectively, when divided by

4,

Watch Video Solution

https://dl.doubtnut.com/l/_hL5JEv8xN5SE
https://dl.doubtnut.com/l/_2RjfqWTzwMBa
https://dl.doubtnut.com/l/_mZDvDM014tTc


22. Find the square root of the following number
 by

prime factorization.
484

Watch Video Solution

23. 
 etc. are

Pythagorean triplets, because 




Watch Video Solution

(3, 4, 5),  (5, 12, 13),  (8, 15,  17)

32 + 42 = 25 = 52

52 + 122 = 169 = 132 82 + 152 = 289 = 172

24. Write a Pythagorean triplet whose one member is
 :

(I)6            
(ii)  18

W t h Vid S l ti

https://dl.doubtnut.com/l/_K6zQy5u5sbSq
https://dl.doubtnut.com/l/_EKhKHuX0VHMo
https://dl.doubtnut.com/l/_M2kBBdAtahTy


Watch Video Solution

25. The following numbers are not perfect squares.
 Give

reason.
 (I)1057                        
 (ii)   23453           (iii)  
 7928     (iv)   

222222

Watch Video Solution

26. What will be the units
 digit of the squares of the

following numbers?
(I)71     
(ii)  599          (iii)   2783        

(iv) 
1234

Watch Video Solution

https://dl.doubtnut.com/l/_M2kBBdAtahTy
https://dl.doubtnut.com/l/_6oZE7nNJ9uBm
https://dl.doubtnut.com/l/_uG5yCir7vv7a


27. Which of the following end with digit 
 ?

Watch Video Solution

1

1232,  772,  822,  1612,  1092

28. Determine whether squares of the following
numbers

are even or odd. (I)213        
(ii)  3824    (iii)   
9777         (iv) 

40028

Watch Video Solution

29. The following numbers are not perfect squares.
Given

reason. (I)64000           
 (ii)     89722                 (iii)     222000     
 (iv)

505050

https://dl.doubtnut.com/l/_9AR1N647VmwA
https://dl.doubtnut.com/l/_K87IKBa2XpHg
https://dl.doubtnut.com/l/_kMl26g54PiI6


Watch Video Solution

30. write a Pythagorean triplet whose one member is

(I)14            
(ii)   16

Watch Video Solution

31. Without adding, find the sum: i) 
ii) 


 iii)

Watch Video Solution

1 + 3 + 5 + 7 + 9

1 + 3 + 5 + 7 + 9 + 11 + 13 + 15 + 17 + 19

1 + 3 + 5 + 7 + 9 + 11 + 13 + 15 + 17 + 19 + 21 + 23

https://dl.doubtnut.com/l/_kMl26g54PiI6
https://dl.doubtnut.com/l/_nSdbEh3lkQnG
https://dl.doubtnut.com/l/_CMGKMsxINCEp


32. Express:
49 as the sum of 7 0dd natural numbers.
121

as the sum of 11 odd natural numbers.

Watch Video Solution

33. How many natural numbers lie between squares of

the following natural numbers?
 (I)12 and 13              
 (ii)   25

and 26         (iii)  99 and 100

Watch Video Solution

34. Express each of the following as the sum of two

consecutive natural numbers :
(I) 
(ii) 
(iii) 

W t h Vid S l ti

212 132 192

https://dl.doubtnut.com/l/_KC3lTqM3X5MU
https://dl.doubtnut.com/l/_xg2O0Iv3F3kN
https://dl.doubtnut.com/l/_mHhmfZ4T7ZPs


Watch Video Solution

35. Find whether 55 is a perfect square or not?

Watch Video Solution

36. Observe the following pattern and find the
 missing

digits: 
 



 


Watch Video Solution

112 = 121 1012 = 10201 10012 = 1002001

100012 = 100020001 1000012 = 100000012 =

37. Observe the following pattern and supply the missing

numbers.
 (i) 11^2 = 121
 (ii) 101^2 = 10201
 (iii) 1001^2 =

https://dl.doubtnut.com/l/_mHhmfZ4T7ZPs
https://dl.doubtnut.com/l/_g2o59dZQeCsu
https://dl.doubtnut.com/l/_kutPUTsKmdqk
https://dl.doubtnut.com/l/_avtcihthBimc


1002001
 (iv) 100001^2 = 1___2___1
 (v) 10000001^2 =

_________

Watch Video Solution

38. Using the given pattern, find the missing
 numbers:










Watch Video Solution

12 + 22 + 22 = 32 22 + 32 + 62 = 72

32 + 42 + 122 = 132 42 + 52 + ()2 = 212

52 + ()2 + 302 = 312 62 + 72 + ()2 = ()2

39. Using suitable patterns, compute the following
 :
 (I)


(ii) =
3332

12321
=

6666662

12345654321

https://dl.doubtnut.com/l/_avtcihthBimc
https://dl.doubtnut.com/l/_pocd15rYxtPk
https://dl.doubtnut.com/l/_0CC0ZkZ5jpRS


Watch Video Solution

40. The following numbers are not perfect squares.
 Give

reason. (I)1547                
 (ii)   45743           (iii)  
8948                   (iv) 

333333

Watch Video Solution

41. Show that the following numbers are not perfect

squares:
(I)9327                   (ii)    4058
(iii)22453                

(iv)   7443522

Watch Video Solution

https://dl.doubtnut.com/l/_0CC0ZkZ5jpRS
https://dl.doubtnut.com/l/_X3ANBekAdywq
https://dl.doubtnut.com/l/_g7vtpZSYhJzi


42. The square of which of the following numbers
would

be an odd numbers :
(I)731                     
(ii)     3456                      (iii) 

5559        
(iv)  42008

Watch Video Solution

43. What will be the units digit of the squares of
 the

following numbers: (I)52        (ii)  977    (iii)  4583

(iv)78367      (v)  52698  (vi)  99880
 (vii)12796    (viii) 55555  (ix)

53924

Watch Video Solution

https://dl.doubtnut.com/l/_XjVJMy63cSv1
https://dl.doubtnut.com/l/_fjwMtBBbXei4


44. Observe the following pattern 


 
 and write the value

of 
upto n terms.

Watch Video Solution

1 + 3 = 22

1 + 3 + 5 = 32 1 + 3 + 5 + 7 = 42

1 + 3 + 5 + 7 + 9 +

45. Observe the following pattern 


 
 
 and

find the value of (I) 
 (ii) 
 (iii) 

Watch Video Solution

22 − 12 = 2 + 1

32 − 22 = 3 + 2 42 − 32 = 4 + 3 52 − 42 = 5 + 4

1002 − 992 1112 − 1092

992 − 962

https://dl.doubtnut.com/l/_Qv9O6WI0rZd6
https://dl.doubtnut.com/l/_fy7ZrOhIFf9X


46. Which of the following triplets are
 Pythagorean? (I)


 (ii) 
 (iii) 
 (iv) 


 
(vi) 

Watch Video Solution

(8,  15, 17) (18,  80, 82) (14, 48, 51)

(10, 24, 26) (16, 63, 65) (12, 35, 38)

47. Observe the following pattern

and find the value of

Watch Video Solution

(1 × 2) + (2 × 3) = ,
2 × 3 × 4

3

(1 × 2) + (2 × 3) + (3 × 4) = ,
3 × 4 × 5

3

(1 × 2) + (2 × 3) + (3 × 4) + (4 × 5) =
4 × 5 × 6

3

 (1 × 2) + (2 × 3) + (3 × 4) + (4 × 5) + (5 × 6)

https://dl.doubtnut.com/l/_TwsFDQR9ecn6
https://dl.doubtnut.com/l/_4CYNbxDOYm8U


48. Observe the following pattern 


and find the values of

each of the following :


Watch Video Solution

1 = {1 × (1 + 1)},
1

2

1 + 2 = {2 × (2 + 1)},
1

2

1 + 2 + 3 = {3 × (3 + 1)},
1

2

1 + 2 + 3 + 4 = {4 × (4 + 1)}
1

2

1 + 2 + 3 + 4 + 5 + + 50,

31 + 32 + + 50

49. Observe the following pattern

,

,

12 = [1 × (1 + 1) × (2 × 1 + 1)]
1

6

12 + 22 = [2 × (2 + 1) × (2 × 2 + 1)]
1

6

12 + 22 + 32 = [3 × (3 + 1) × (2 × 3 + 1)],
1

6

12 + 22 + 32 + 42 = [4 × (4 + 1) × (2 × 4 + 1)],
1

6

https://dl.doubtnut.com/l/_we1l9KZVmjwL
https://dl.doubtnut.com/l/_n2lUEktaazkv


and find the values of each of the following

Watch Video Solution

12 + 22 + 32 + 42 +
..

+ 102,

52 + 62 + 72 + 82 + 92 + 102 + 112 + 122

50. Which of the following square numbers are squares

of
even numbers ?
121,225, 256, 324,1296, 6561, 5476, 4489

Watch Video Solution

51. By just examining the units
digits, can you tell which

of the following cannot be whole squares? (I)1026       

https://dl.doubtnut.com/l/_n2lUEktaazkv
https://dl.doubtnut.com/l/_uY10VPvXtGXk
https://dl.doubtnut.com/l/_iI6KN7EgWojR


             (ii)    1028              (iii)   1024
(iv)1022                 

(v)    1023               (vi)   1027

Watch Video Solution

52. Write five numbers for which you cannot decide

whether they are squares just by looking at unit digit.

Watch Video Solution

53. Write five numbers which you connot decide
whether

they are square just by looking at the units digit.

Watch Video Solution

https://dl.doubtnut.com/l/_iI6KN7EgWojR
https://dl.doubtnut.com/l/_yLaJh3dQORY8
https://dl.doubtnut.com/l/_ttjhjFkCWGYk
https://dl.doubtnut.com/l/_jePA9IcbZORy


54. Find the square root of the following number
 by

prime factorization.
324

Watch Video Solution

55. Find the squares of the following numbers using

column method.
(I)25                (ii)   96

Watch Video Solution

56. Find the squares of the following numbers using

column method:
(I)99                 (ii)    89

Watch Video Solution

https://dl.doubtnut.com/l/_jePA9IcbZORy
https://dl.doubtnut.com/l/_Y25zbLIL95AC
https://dl.doubtnut.com/l/_qOsJ8wUpSsMT


57. Find the squares of the following numbers by
 visual

method.
(I)54              
 (ii)  97

Watch Video Solution

58. Find the square of the following numbers by
 visual

method:
(I)205               (ii)   315

Watch Video Solution

59. Find the squares of the following using
 diagonal

method: (I)89                (ii)   68

Watch Video Solution

https://dl.doubtnut.com/l/_0ib9AHL91BMn
https://dl.doubtnut.com/l/_jeqFkR8RlZpT
https://dl.doubtnut.com/l/_rhpcnLN5vcXY


60. Find the square of the following numbers by

diagonal method:
(I)349               (ii)   293

Watch Video Solution

61. Find the squares of the following numbers:

(I)65           
(ii)    85              (iii)  95

Watch Video Solution

62. Find the squares of the following numbers:

(I)56          
(ii)  58             (iii)   59

Watch Video Solution

https://dl.doubtnut.com/l/_WHqcXHCAJk8l
https://dl.doubtnut.com/l/_PuVK6hETxftV
https://dl.doubtnut.com/l/_TIUlwuE8WqHJ


63. Find the squares of the following numbers:

(I)527          
(ii)   514             (iii)   525

Watch Video Solution

64. Find the square of the following numbers:

(I)125            
(ii)   215               (iii)    1235

Watch Video Solution

65. Find the square of 87 by using column method
 and

diagonal method.

Watch Video Solution

https://dl.doubtnut.com/l/_B7Ovk8T2aPzu
https://dl.doubtnut.com/l/_D02OOuY8Np5f
https://dl.doubtnut.com/l/_2rNIISgP1Ebp


66. Find the squares of the following numbers by

diagonal method:
(I)854               (ii)    2576

Watch Video Solution

67. Find the squares of the following numbers:

(I)35           
(ii)   105               (iii)   2005

Watch Video Solution

68. Find the squares of the following numbers;

(I)515               (ii)   580               (iii)   509

Watch Video Solution

https://dl.doubtnut.com/l/_LDvEOIy0SFyi
https://dl.doubtnut.com/l/_AWm2OAkYfXFa
https://dl.doubtnut.com/l/_iqfQUlCxHlXH


69. Find the squares of the following numbers using
the

identity 
(I)509
(ii) 211 (iii) 625

Watch Video Solution

(a + b)2 = a
2 + 2ab + b

2

70. Find the squares of the following numbers using
the

identity 
(I)491
(ii) 189 (iii) 575

Watch Video Solution

(a − b)2 = a
2 − 2ab + b

2

71. Find the squares of the following numbers using

column method. Verify the result by finding the square

using the usual
 multiplication:
 (I)25                                     (ii)     

37                (iii)   54
(iv)71                   (v)    96

https://dl.doubtnut.com/l/_BHaoVaGLJSVY
https://dl.doubtnut.com/l/_g2q5dnGrwZc9
https://dl.doubtnut.com/l/_g16NOallK8do


Watch Video Solution

72. Find the square root of the following number
 by

prime factorization.
1764

Watch Video Solution

73. Find the squares of the number127

Watch Video Solution

74. Find the squares of the following numbers:

(I)425                               (ii)             575                               (iii)     405

https://dl.doubtnut.com/l/_g16NOallK8do
https://dl.doubtnut.com/l/_nlift666otNw
https://dl.doubtnut.com/l/_pUX3ui8zeST4
https://dl.doubtnut.com/l/_7dg2fimT82X3


(iv)205                               (v)             95                                   (vi)     745

(vii)125                 (viii)   995

Watch Video Solution

75. Find the squares of the following numbers using
the

identity 
 (I)405 (ii) 510 (iii)

1001
(iv)209 (v) 605

Watch Video Solution

(a + b)2 = a
2 + 2ab + b

2 :

76. Find the squares of the following numbers using
the

identity 
 (I)395 (ii) 995 (iii)

495
(iv) 498
(v)99 (vi) 999 (vii) 599

h id l i

(a − b)2 = a
2 − 2ab + b

2 :

https://dl.doubtnut.com/l/_7dg2fimT82X3
https://dl.doubtnut.com/l/_YZSBjPA2hkX2
https://dl.doubtnut.com/l/_jZtMC2G2olAj


Watch Video Solution

77. Find the squares of the following number by
 visual

method: 52

Watch Video Solution

78. 


Watch Video Solution

√4 = 2. because 22 = 4. √9 = 3,  because 32 = 9.

√324 = 18,  because 182 = 324.

79. Find the square root of 36 by successive
subtractions.

Watch Video Solution

https://dl.doubtnut.com/l/_jZtMC2G2olAj
https://dl.doubtnut.com/l/_E8hiZyDDNk6S
https://dl.doubtnut.com/l/_ODgV7040mKsV
https://dl.doubtnut.com/l/_9ywFmhMcUABo


80. Find the square root of 11025 by prime
factorization.

Watch Video Solution

81. Find the square root of 7744 by prime
factorization.

Watch Video Solution

82. Find the square root of 298116 by prime
factorization.

Watch Video Solution

https://dl.doubtnut.com/l/_9ywFmhMcUABo
https://dl.doubtnut.com/l/_HfXTK5cMvvdd
https://dl.doubtnut.com/l/_yZlUTYRdolQp
https://dl.doubtnut.com/l/_rfVNfnIChQIz


83. Find the smallest number by which 1100 must be

multiplied so that the product becomes a perfect square.

Also in each find
the square root of the perfect square so

obtained.

Watch Video Solution

84. Find the smallest number by which 9408 must be

divided so that it becomes a perfect square. Also, find

the square root of
the perfect square so obtained.

Watch Video Solution

https://dl.doubtnut.com/l/_rAn1K7iHnzZg
https://dl.doubtnut.com/l/_GfnKkKartVBf


85. 5929 students are sitting in an auditorium in
 such a

manner that there are as many students in a row as

there are rows in
 the auditorium. How many rows are

there in the auditorium.

Watch Video Solution

86. A general wishing to arrange his men, who were

335250 in number in the form of a square found that

there were 9 men left
over. How many were there in each

row?

Watch Video Solution

https://dl.doubtnut.com/l/_J0wNbtds16C3
https://dl.doubtnut.com/l/_bM4R0wioGNtn


87. The product of two numbers is 1575 and their

quotient is 
Find the numbers.

Watch Video Solution

.
9

7

88. Find the smallest square number divisible by
 each

one of the numbers 8, 9 and 10.

Watch Video Solution

89. What could be the possible ones digits of the
square

root of each of the following
numbers?
(i) 9801 (ii) 99856

(iii) 998001 (iv) 657666025

W t h Vid S l ti

https://dl.doubtnut.com/l/_TVQOFYSJA3FZ
https://dl.doubtnut.com/l/_uqINoPHHLuVW
https://dl.doubtnut.com/l/_dS6PaCMY3Reh


Watch Video Solution

90. Find the square root of the following number
 by

prime factorization.
441

Watch Video Solution

91. Find the square root of each of the following
 by

prime factorization.
(I)7056                   (ii)   8281             

(iii)   11664
 (iv)47089                                 (v)     24336                       (vi)   

190969

Watch Video Solution

https://dl.doubtnut.com/l/_dS6PaCMY3Reh
https://dl.doubtnut.com/l/_DI7A0OhwHuQ8
https://dl.doubtnut.com/l/_g3faGnJ4DkNH


92. Find the square root of each of the following by

prime factorization.
(I)586756               (ii)    27225            

(iii)   3013696

Watch Video Solution

93. Find the smallest number by which 180 must be

multiplied so that 
it becomes a perfect square. Also find

the square root of the perfect
square so obtained.

Watch Video Solution

94. Find the smallest number by which 147 must be

multiplied so that it becomes a perfect square. Also find

https://dl.doubtnut.com/l/_aAtIFdcOlC0D
https://dl.doubtnut.com/l/_btR059A0OYxc
https://dl.doubtnut.com/l/_D5MOACm1hFsc


the square root the
number so obtained.

Watch Video Solution

95. Find the smallest number by which 3645 must be

divided so that it becomes a perfect square. Also find the

square root of the
resulting number.

Watch Video Solution

96. Find the smallest number by which 1152 must be

divided so that it becomes a perfect square. Also, find

the square root the
number obtained.

Watch Video Solution

https://dl.doubtnut.com/l/_D5MOACm1hFsc
https://dl.doubtnut.com/l/_OnD51PQOg75A
https://dl.doubtnut.com/l/_ujVvHLQlWPtJ


97. The product of two numbers is 1296. If one
number is

16 times the other, find the numbers.

Watch Video Solution

98. A welfare association collected Rs 202500 as

donation from the residents. If each paid as many rupees

as there were
residents, find the number of residents.

Watch Video Solution

99. A society collected Rs 92.16. Each member
collected as

many paise as there were members. How many members

https://dl.doubtnut.com/l/_ujVvHLQlWPtJ
https://dl.doubtnut.com/l/_iVG6zh5q3PRH
https://dl.doubtnut.com/l/_xAJXWqvLPBQJ
https://dl.doubtnut.com/l/_oqZ4P2avrYfr


were there
and how much did each contribute?

Watch Video Solution

100. A school collected Rs 2304 as fees from its
students.

If each student paid as many paise as there were

students in the
school, how many students were there in

the school ?

Watch Video Solution

101. The area of a square field is 5184 
 A rectangular

field, whose length is twice its
 breadth has its breadth

m
2.

https://dl.doubtnut.com/l/_oqZ4P2avrYfr
https://dl.doubtnut.com/l/_9veXsSvBMVHC
https://dl.doubtnut.com/l/_kPBuLJAXvCPc


has its permeter equal to the perimeter of the square

field. Find the area of the rectangular field.

Watch Video Solution

102. Find the least square number, exactly divisible
 by

each one of the numbers: 6, 9, 15 and 20

Watch Video Solution

103. Find the square roots of 121 and 169 by the
method

of repeated subtraction.

Watch Video Solution

https://dl.doubtnut.com/l/_kPBuLJAXvCPc
https://dl.doubtnut.com/l/_r6TbIkQ2ztaJ
https://dl.doubtnut.com/l/_ZknUTbsZlAsg
https://dl.doubtnut.com/l/_F2uAXuQAVL5I


104. Write the prime factorization of the
 number and

hence find their square roots.
7744

Watch Video Solution

105. The students of class VIII of a school donated
 Rs

2401 for PM’s National relief fund. Each student donated

as many rupees as
 the number of students in the class.

Find the number of students in the
class.

Watch Video Solution

106. A PT teacher wants to arrange maximum possible

number of 6000 students in a field such that the number

https://dl.doubtnut.com/l/_F2uAXuQAVL5I
https://dl.doubtnut.com/l/_eVUovsk9aU0Z
https://dl.doubtnut.com/l/_kyF3uEG5lcD4


rows
 is equal to the number of columns. Find the

number of rows if 71 were
left out after arrangement.

Watch Video Solution

107. Find the number of digits in the square roots
 of

each of the following perfect squares :
(I)390625              

(ii)  1758276          (iii)  152399025

Watch Video Solution

108. Find the square root of the following
 numbers by

long division method :54756

Watch Video Solution

https://dl.doubtnut.com/l/_kyF3uEG5lcD4
https://dl.doubtnut.com/l/_X2gtSsrhvWKF
https://dl.doubtnut.com/l/_P7LQP12yxEPN


109. Find the least number which must be subtracted

from 18265 to make it a perfect square. Also, find the

square root of the
resulting number.

Watch Video Solution

110. Find the least number which must be added to

306452 to make it a perfect square.

Watch Video Solution

111. Find the greatest number of six digits which is
 a

perfect square.

https://dl.doubtnut.com/l/_P7LQP12yxEPN
https://dl.doubtnut.com/l/_lAfNAaD7yRpA
https://dl.doubtnut.com/l/_mnfkvRa47kJH
https://dl.doubtnut.com/l/_6l8HwyGCbVSU


Watch Video Solution

112. Find the least number of four digits which is a

perfect square.

Watch Video Solution

113. Find the square root of each of the following
by long

division method: (i)12544(ii)97344

Watch Video Solution

https://dl.doubtnut.com/l/_6l8HwyGCbVSU
https://dl.doubtnut.com/l/_w50XUimT0bym
https://dl.doubtnut.com/l/_DyKvuGZyZy36


114. Find the square root of each of the following
by long

division method: (i)120409

Watch Video Solution

115. Find the square root of the following
 by long

division method: 20657025

Watch Video Solution

116. Find the square root of the following
 by long

division method: 6407522209

Watch Video Solution

https://dl.doubtnut.com/l/_BsObRa785ruw
https://dl.doubtnut.com/l/_CykxBdUCTw5R
https://dl.doubtnut.com/l/_4UHT4KuD80oG


117. Find the least number which must be subtracted

from the following numbers to make them a perfect

square :
(i) 2361(ii)194491

Watch Video Solution

118. Find the least number which must be subtracted

from 5607 to make a perfect square.

Watch Video Solution

119. Find the greatest number of 5 digits which is a

perfect square.

W t h Vid S l ti

https://dl.doubtnut.com/l/_8U3bOpjuZUjz
https://dl.doubtnut.com/l/_hoCQyPaTxXpD
https://dl.doubtnut.com/l/_WQB7aEYsu4PJ


Watch Video Solution

120. Find the least number of 4 digits which is a
perfect

square.

Watch Video Solution

121. Find the least number of six digits which is a
perfect

square.

Watch Video Solution

122. Find the greatest number of 4 digits which is a

perfect square.

https://dl.doubtnut.com/l/_WQB7aEYsu4PJ
https://dl.doubtnut.com/l/_GLvMRnQOLWBV
https://dl.doubtnut.com/l/_k4FQZ5x8ohTD
https://dl.doubtnut.com/l/_oFLJtXrsnlqX


Watch Video Solution

123. A general arranges his soldiers in rows to
 form a

perfect square. He finds that in doing so, 60 soldiers are

left
out. If the total number of soldiers be 8160, find the

number of soldiers in
each row.

Watch Video Solution

124. The area of a square field is 60025 
A man cycles

along its boundary at 18 km/ hr.
 In how must time will he

return at the starting point ?

Watch Video Solution

m
2.

https://dl.doubtnut.com/l/_oFLJtXrsnlqX
https://dl.doubtnut.com/l/_4bz8LQTCaf7a
https://dl.doubtnut.com/l/_K0cOlOkOuPWi


125. The cost of levelling and turfing a square lawn
at Rs

2.50 per 
 is Rs 13322.50. Find the cost of fencing it at

Rs
5 per metre.

Watch Video Solution

m
2

126. Find the greatest number of three digits which
 is a

perfect square.

Watch Video Solution

127. Find the smallest number which must be added to

2300 so that it becomes a perfect square.

W t h Vid S l ti

https://dl.doubtnut.com/l/_JfXu9V7vQiGU
https://dl.doubtnut.com/l/_1EO0pLDpTmR6
https://dl.doubtnut.com/l/_ReZfOq4dCISd


Watch Video Solution

128. Find the square root of 

Watch Video Solution

.
256

441

129. Find the square root of 

Watch Video Solution

.
625

1296

130. Find the square root of 

Watch Video Solution

52 .
857
2116

https://dl.doubtnut.com/l/_ReZfOq4dCISd
https://dl.doubtnut.com/l/_T5eODdRRM0P0
https://dl.doubtnut.com/l/_4jXhZZdbljBl
https://dl.doubtnut.com/l/_ngEBL6CJoaGa


131. The area of a square field is 
square metres.

Find the length of one side of the
field.

Watch Video Solution

101
1

400

132. Find the square root of the  in the decimal

form.

Watch Video Solution

0.813604

133. Find the square root of the  in the

decimal form.

Watch Video Solution

0.00002025

https://dl.doubtnut.com/l/_M2tRwvonpIdh
https://dl.doubtnut.com/l/_kpznGWW5ImGf
https://dl.doubtnut.com/l/_VfgGOIXhWTrA


134. Find the square root of : 

Watch Video Solution

441
961

135. Find the square root of : 

Watch Video Solution

324

841

136. Find the square root of the  in the decimal

form.

Watch Video Solution

225.6004

https://dl.doubtnut.com/l/_a06GxMIcNfbV
https://dl.doubtnut.com/l/_c12Ohq8HKozS
https://dl.doubtnut.com/l/_NZ473cM2COIi


137. Find the square root of the  in the

decimal form

Watch Video Solution

3600.720036

138. The area of a square field is 
 square metres.

Find the length of each side of the
field.

Watch Video Solution

80
244

729

139. The area of a square field is 
 Calculate the

length of the side of the square.

Watch Video Solution

30  m2.
1

4

https://dl.doubtnut.com/l/_YaxXXWI26sjh
https://dl.doubtnut.com/l/_7FCHZE8PI0PT
https://dl.doubtnut.com/l/_8oqcTFfYKg6J


140. Find the length of side of a square playground

whose area is equal to the area of a rectangular field of

dimensions 72 m and
338 m.

Watch Video Solution

141. Find the square root of 447. 3225.

Watch Video Solution

142. Find the square root of 0.00008281.

Watch Video Solution

https://dl.doubtnut.com/l/_iHfEcJEJordQ
https://dl.doubtnut.com/l/_nPiiRlP3DupK
https://dl.doubtnut.com/l/_ou4Dm04QJeiS


143. Find the square root of 0.053361.

Watch Video Solution

144. A decimal fraction is multiplied by itself. If
 the

product is 251953. 8025, find the fraction.

Watch Video Solution

145. Find the value of 
and the use it to find the

value of 

Watch Video Solution

√15625

√156. 25 +  √1. 5625.

https://dl.doubtnut.com/l/_y2fkBlFmmuNw
https://dl.doubtnut.com/l/_7McSTXmYZvYl
https://dl.doubtnut.com/l/_JGOZldP2wxY9
https://dl.doubtnut.com/l/_Su9c4r7D5Fwz


146. Find the square roots of 2304 and 1764 and
 hence

find the value of 

Watch Video Solution

√0. 2304 + √0. 1764

√0. 2304 −  √0. 1764

147. Find the square root of the following numbers
 in

decimal form: 0.7225

Watch Video Solution

148. Find the square root of the following numbers
 in

decimal form: 84.8241

Watch Video Solution

https://dl.doubtnut.com/l/_Su9c4r7D5Fwz
https://dl.doubtnut.com/l/_K7Mynm2mkNqF
https://dl.doubtnut.com/l/_bwYrii4KsDM7


149. What is that fraction which when multiplied by
itself

given 
?

Watch Video Solution

227.  798649

150. The area of a square playground is 256.6404
square

metres. Find the length of one side of the playground.

Watch Video Solution

151. What is the fraction which when multiplied by
 itself

gives 0.00053361 ?

Watch Video Solution

https://dl.doubtnut.com/l/_YrARghZVs1A7
https://dl.doubtnut.com/l/_Jv3t1R0r5vT4
https://dl.doubtnut.com/l/_ETzOLluFl4dt


152. Simplify : (I) 
 (ii) 

Watch Video Solution

√59. 29  −  √5. 29

√59. 29  +  √5. 29
√0. 2304  −  √0. 1764

√0. 2304  +  √0. 1764

153. Evaluate 
 and hence find the value of

Watch Video Solution

√50625

√506. 25 +  √5. 0625

154. Find the value of 
 and hence find the

value of (I) 
(ii) 

Watch Video Solution

√103. 0225

√10302. 25 √1. 030225

https://dl.doubtnut.com/l/_QE8cLhGyUGyF
https://dl.doubtnut.com/l/_biE8rwrBeU8y
https://dl.doubtnut.com/l/_V5KCd45q6Pyq


155. Find the square root of 2 correct to three
places of

decimal.

Watch Video Solution

156. Find the square root of 3 correct to three
places of

decimal.

Watch Video Solution

157. Find the square root of 237. 615 correct to
 three

places of decimal.

Watch Video Solution

https://dl.doubtnut.com/l/_V5KCd45q6Pyq
https://dl.doubtnut.com/l/_BGg7J7Kt8TCH
https://dl.doubtnut.com/l/_mexbZMoFiOlL
https://dl.doubtnut.com/l/_H4eHxFxH1NgD


Watch Video Solution

158. Find the square root of 
correct to three places

of decimal.

Watch Video Solution

10
2

3

159. Find the square root of 
 correct to four places of

decimal.

Watch Video Solution

3

7

160. Given that 
 evaluate

each of the following 
(ii) 

√2 = 1. 414 and √5 = 2. 236,

√
36

5
√

625

98

https://dl.doubtnut.com/l/_H4eHxFxH1NgD
https://dl.doubtnut.com/l/_zZzu6QZI1ujf
https://dl.doubtnut.com/l/_9UI6Gb9F5sjp
https://dl.doubtnut.com/l/_Qccy6Q3kAgW0


Watch Video Solution

161. Find the square root of each of the following
correct

to three places of decimal. 5

Watch Video Solution

162. Find the square root of each of the following
correct

to three places of decimal.
20

Watch Video Solution

163. Find the square root of each of the following
correct

to three places of decimal.
1.7

https://dl.doubtnut.com/l/_Qccy6Q3kAgW0
https://dl.doubtnut.com/l/_ZTvJrPg8jWE0
https://dl.doubtnut.com/l/_QirOd12ym62m
https://dl.doubtnut.com/l/_MWIGK3KosZXS


Watch Video Solution

164. Find the square root of each of the following
correct

to three places of decimal.
0.9

Watch Video Solution

165. Find the square root of each of the following
correct

to three places of decimal.
0.1

Watch Video Solution

https://dl.doubtnut.com/l/_MWIGK3KosZXS
https://dl.doubtnut.com/l/_qDrbgXTiSH3M
https://dl.doubtnut.com/l/_lYUfLfIKY8aP


166. Find the square root of each of the following
correct

to three places of decimal.
(i) 

Watch Video Solution

7

167. Find the square root of the following
 correct to

three places of decimal.


Watch Video Solution

2
1

2

168. Find the square root of 12.0068 correct to four

decimal places.

Watch Video Solution

https://dl.doubtnut.com/l/_nSKlcg7mTFGQ
https://dl.doubtnut.com/l/_pyo14TBvd9X4
https://dl.doubtnut.com/l/_tdsn7p0t2hRi


169. Find the square root of 11 correct to five
 decimal

places.

Watch Video Solution

170. Given that :

evaluate each of the following :


Watch Video Solution

√2 = 1. 414,  √3 = 1. 732,  √5 = 2. 236 and √7 = 2. 646,

√
144

7

171. Given that

√2 = 1. 414,  √3 = 1. 732,  √5 = 2. 236 and √7 = 2. 646,

https://dl.doubtnut.com/l/_9CO5qkNJjWCm
https://dl.doubtnut.com/l/_52P9sW9UR1N1
https://dl.doubtnut.com/l/_bkffYuMnuTDq


find the square roots of the following : 

Watch Video Solution

169

75

172. Given that

find the square roots of the following : 

Watch Video Solution

√2 = 1. 414,  √3 = 1. 732,  √5 = 2. 236 and √7 = 2. 646,

276
50

173. Given that

find the square roots of the following : 

Watch Video Solution

√2 = 1. 414,  √3 = 1. 732,  √5 = 2. 236 and √7 = 2. 646,

150

7

https://dl.doubtnut.com/l/_bkffYuMnuTDq
https://dl.doubtnut.com/l/_i4RK0irBgwXv
https://dl.doubtnut.com/l/_asuCBTQvIVkP


174. Given that

find the square roots of the following : 

Watch Video Solution

√2 = 1. 414,  √3 = 1. 732,  √5 = 2. 236 and √7 = 2. 646,

256

5

175. Using square root table, find the square roots
of the

following :(i)7(ii) 15

Watch Video Solution

176. Using square root table, find the square roots
of the

following :
(i)82

https://dl.doubtnut.com/l/_asuCBTQvIVkP
https://dl.doubtnut.com/l/_EdMiuFNHy3vW
https://dl.doubtnut.com/l/_ggWeX1qad9Iv
https://dl.doubtnut.com/l/_CmdrnlM07sfy


Watch Video Solution

177. Using square root table, find the square roots
of the

following :
(i) 8700          
(ii) 3509               (iii)
6929

Watch Video Solution

178. Using square root table, find the square roots
of the

following :(i) 1312

Watch Video Solution

https://dl.doubtnut.com/l/_CmdrnlM07sfy
https://dl.doubtnut.com/l/_8bInBlqC8iKW
https://dl.doubtnut.com/l/_7026awXgOWuK


179. Using square root table, find the square roots
of the

following :
(i) 
(ii) 

Watch Video Solution

99

144
57
100

180. Given that

find the square roots of the following : 

Watch Video Solution

√2 = 1. 414,  √3 = 1. 732,  √5 = 2. 236 and √7 = 2. 646,

16

3

181. Using square root table, find the square roots
of the

following :
(i) 110               (ii) 1110             (iii) 11.11

W t h Vid S l ti

https://dl.doubtnut.com/l/_zheNVtJ8pcXe
https://dl.doubtnut.com/l/_IwZRdbOf76ny
https://dl.doubtnut.com/l/_8DlIgbBX7Efd


Watch Video Solution

182. The area of a square field is 
 Find the

approximate length of one side of the
field.

Watch Video Solution

325 m2.

183. Find the length of a side of a square, whose
area is

equal to the area of a rectangle with sides 240 m and 70

m.

Watch Video Solution

https://dl.doubtnut.com/l/_8DlIgbBX7Efd
https://dl.doubtnut.com/l/_V52tLHCFMLUI
https://dl.doubtnut.com/l/_v97oFcnIN3VF

